A14.2 (mod 2)

blocks | defect | matrix

G: 1 11 110 x 15
2 7 20 x 5
3 3 Hx2




Block 1: ©1,0 P20 P30 P40 P50 ¥6,0 ¥10,0 P11,0 P12,0 P13,0 P14,0 ¥16,0
11 = x1,0 1
Io =x11 1 .
131 = x2,0 1 1
132 = X2,1 1 1 .
771 = X3,0 1 1 1
772 = X3,1 1 1 1
781 = X4,0 2 1 1
782 = X4,1 2 1 1 .
2731 = X5,0 1 1 1
2732 = X5,1 1 . 1 1
2861 = X6,0 2 1 1 1
2862 = Xe6,1 2 1 1 . 1 .
429, = x7.0 1 1 1
429 = x71 | 1 | .1
6371 = X9,0 1 1 1 1
6372 = X9,1 1 . 1 1 1
7151 = X10,0 3 1 2 1 1
7152 = X10,1 3 1 2 1 1 .
10011 = X11,0 1 1 1 1 1
10015 = X111 1 1 1 ) 1 1
10013 = X12,0 1 1 1 1 1
10014 = X12,1 1 1 . 1 . 1 1
12871 = X13,0 3 2 2 1 1 1
12872 = X13,1 3 2 2 1 1 1 .
13651 = x14,0 1 1 1
13652 = X14,1 1 . 1 . . . . 1
17161 = X15,0 4 2 2 1 1 2 1
17162 = x15,1 4 2 2 1 1 2 1 .
20021 = X16,0 2 2 1 1 1
20022 = x16,1 2 . 2 1 1 1
20791 = X17,0 3 1 3 1 1 1
20792 = X17,1 3 1 3 1 1 . 1 .
57331 = X23,0 3 2 1 1 1 1 1
57332 = X23,1 3 2 1 . 1 1 1 1 .
60061 = X24,0 2 1 1 1 2 1 1
60062 = X24,1 2 1 1 1 . 2 1 . . 1
60063 = X25,0 4 2 2 1 1 1 1 1
60064 = X25,1 4 2 2 1 1 1 1 1
60065 = X26,0 2 1
60066 = X26,1 2 1



(Block 1:) | ¢170 210 24,0

11 =x10
1o =x11
131 = Xx2,0
132 = x21
771 = X3,0
72 = x31
781 = X4,0
782 = X4,1
2731 = X5,0
2732 = x5,1
2861 = X6,0
2862 = Xx6,1
4291 = x7,0
4292 = X7,1
6371 = Xx9,0
6372 = x9,1
7151 = X10,0
7152 = Xx10,1
10011 = X11,0
10012 = X111
10015 = x12,0
10014 = X121
12871 = x13,0
12873 = x13,1
13651 = X14,0
13652 = X141
17161 = x15,0
17162 = x15,1
20021 = x16,0
20022 = x16,1
20791 = x17,0
20792 = x17,1
57331 = Xx23,0
57332 = x23,1
60061 = X24,0
60062 = x24,1
60063 = X25,0

60064 = X25,1 .

60065 = X26,0 1

60066 = X26,1 1




(Block 1:) ©1,0 2,0 P30 P40 P50 P6,0 P10,0 P11,0 P12,0 P13,0 P14,0 $16,0

64351 = Xx27,0 1 1 1 1 1 1 1

64352 = X27,1 1 1 . 1 . 1 1 . 1 1

70071 = X28,0 5 3 3 1 2 2 1 1

70072 = X28,1 5 3 3 . 1 2 2 1 1

70073 = X29,0 3 2 1 1 1 1 1 1

70074 = X291 3 2 1 1 1 1 . 1 1

70075 = X30,0 1 2 1 1 2 1 1

70076 = X30,1 1 2 . 1 . 1 2 1 . 1

76441 = x31,0 4 2 2 1 1 2 1 1 1

76445 = X311 4 2 2 1 1 2 1 . 1 1 .

80851 = X32,0 5 2 4 1 1 3 1 1 1

80852 = X32,1 5 2 4 1 1 3 1 1 . 1

90091 = X33,0 3 1 1 1 1 1

9009 = x331 | 3 A | 1 1 1
120121 = x34,0 4 2 2 1 2 1 1 1 1
120125 = X341 4 2 2 1 . 2 1 1 1 1
120123 = x35,0 4 2 2 1
120124 = X35,1 4 2 2 . 1 . . . . .
136501 = X36,0 6 3 3 2 1 4 2 1 1 1
136502 = X36,1 6 3 3 2 1 4 2 1 1 1
14014; = X370 2 1 1 2 2 1 1 1 1 1
140145 = X371 2 1 1 2 . 2 1 . 1 1 1 1
140143 = X380 6 2 4 1 1 3 1 1 1 1 1
140144 = x38.1 6 2 4 1 1 3 1 1 1 1 1
140145 = x30.0 4 2 1 2 1 1 1
14014 = X301 4 . 2 1 2 . 1 . 1 ) 1
150151 = X40,0 3 1 1 1 1 1 1 1 1 1
150155 = Y401 3 1 1 1 . 1 1 1 1 1 1
150153 = X41,0 5 2 3 1 1 1 1
150154 = X41,1 5 2 3 1 1 1 . . 1 .
150155 = x42.0 73 4 2 1 4 2 1 1 1 1
150156 = X421 7 3 4 2 1 4 2 1 . 1 1 1
154441 = x43,0 4 2 2 3 4 2 1 1 1 1
210211 = X46,0 7 2 3 1 1 1 1 1
210215 = 46,1 7 2 3 1 1 1 . 1 . 1 . .
210215 = Y470 5 2 2 2 3 2 1 1 1 1 1
210214 = X471 b) 2 2 2 . 3 2 1 1 1 1 1
210215 = x48.0 7 4 4 2 1 4 3 1 1 1 2 1
210216 = x48,1 7 4 4 2 1 4 3 1 1 1 2 1




(Block 1:) | ¢170 @210 %240

64351 = X270

64352 = 27,1

70071 = X28,0

70072 = 28,1

70073 = Xx29,0

70074 = 29,1

70075 = X30,0

70076 = 30,1

76441 = X31,0

76442 = x31,1

80851 = x32,0

80852 = X32,1 .

90091 = X33,0 1

90092 = X33,1 1
120121 = X34’0
120122 = X34,1 .
120123 = X35,0 1
120124 = X3571 1
136501 = X36,0
136502 = X36,1
140141 = X3770
140142 = X37,1
140143 = X38,0
140144 = X38,1 .
140145 = X3970 1
140146 = X39’1 1
150151 = X40,0 1
150152 = X40’1 1 .
150153 = X4170 1
150154 = X41,1 1
150155 = X42’0
150]—56 = X42,1
154441 = X43,0
154442 = X4371 . .
210211 = X46,0 1 1
210212 = X46,1 1 1
210213 = X47,0 1
210214 = X471 1

210215 = X48,0
210216 = x4s8,1




(Block 1:)

®1,0

¥2.0

©3.0

®4,0

©5,0

©6,0

$10,0

¥11,0

$12,0

$13,0

14,0

$16,0

214501 = X49,0
214502 = X49,1
214503 = X50,0
214504 = X50,1
270271 = X53,0
270272 = X53,1
270273 = X54,0
270274 = X54,1
280281 = X55,0
280282 = X55,1
286651 = X56,0
286652 = X56,1
350351 = X61,0
350352 = X61,1
350353 = X62,0
350354 = X62,1
420421 = X64,0
420422 = X64,1
420423 = X65,0
420424 = X65,1
477751 = X66,0
477752 = X66,1
480483 = X68,0
480484 = X68,1
500501 = X69,0
500502 = X69,1
630631 = Xx70,0
630632 = X70,1
694981 = X72,0
694982 = X72,1

0 0000 OWOWOHDMDOOO©OUNULLO Ok I~JWwoooo D

ey =t
B~ W W

000 T T = OO I JUtUtUtUtWWWWk bk Wwwwwksbkeww

SO OO R R R W WW W R WWERE RNDNWWF B RWW

QUL R RN NN WWNDNWWWWHR R WWHRERFRRFRRFRRRFRWWNDDND

I I I I N N N T N S e N N S e = T N T N T S e e e e T = T = G Sy ey

SO T U N NNNTTTTNN R R WWRFE OO N - === OOt NN

QLU IR R NN WWUIUTW W R EREFERFERFEFWWWWFERFRDNDDNDWWE =

e e

[ o S

N N = = = = = e e e e e e e e e,

W WWWNNNNNDNRFEFFNDNNDNDNRF NN =

DO DD = = = = N N

W WNONHFFFDNNWWRFERFNDND - .

e

— = =




(Block 1:)

$17,0

©21,0

©24.0

214501 = X49,0
214502 = X49,1
214503 = X50,0
214504 = X50,1
270271 = X53,0
270272 = X53,1
270273 = X54,0
270274 = X54,1
280281 = X55,0
280282 = X55,1
286651 = X56,0
286652 = X56,1
350351 = X61,0
350352 = X61,1
350353 = X62,0
350354 = X62,1
420421 = X64,0
420422 = X64,1
420423 = X65,0
420424 = X65,1
477751 = X66,0
477752 = X66,1
480483 = X68,0
480484 = X68,1
500501 = X69,0
500502 = X69,1
630631 = Xx70,0
630632 = X70,1
694981 = X72,0
694982 = X72,1
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¥1,0
©2.0
¥3,0
©4,0
¥5,0
6,0
$10,0
¥11,0
$12,0
©13,0
©14,0
$16,0
©17,0
©21,0
¥24.0

12,
644
640
208,
364,
5605
1300,
2016,
2510,
3418,
45764
4704,
11648,
19240,



Block 2: | o7+ w90 $150 @200 P22+
5601 = xs,0 1
5602 = X8,1 1 .
43681 = x18,0 1 1
43682 = X18,1 . 1 1
45761 = X19,0 1 1
45762 = X19,1 1 . 1
49281 = X22,0 2 1
49282 = X22,1 . 2 1
95041 = X20+ 1 2 2 .
160161 = X44,0 1 1 1 1
160162 = X44,1 1 1 1 1
203841 = X45,0 1 2 2 1
203842 = X45,1 1 2 2 1
249601 = X52,0 2 2 3 1
249602 = X52,1 2 2 3 1 .
480481 = X67,0 1 1 1 1
480482 = Xe67,1 1 1 . 1 1
640641 = X71,0 2 2 1 2 1
640642 = X71,1 2 2 1 2 1
686401 = x50+ 3 2 2 2 1
Block 3: | v18+ 250
232961 = X51,0 1
232962 = X51,1 1 Yis+
366081 = X63.0 1 1 ¥25,0
366082 = X63,1 1 1
599041 = X57+ 1 2

Pr+
9,0
©15,0
©20,0
P22+

13312,
23296,

7681
5601
3808,
108804
35840,



